EQAO PRACTICE BOOKLET #4
2D Measurement and Geometry
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In the diagram below, line segment EB.
bisects ZABD.
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‘What is the meastre of ZABE?
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A flowerpot hangs from a brace.
MNQ and /MNP form the brace.

What i the valus of 7
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Examine the figure below:
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‘What is the meastre of ZFEG?
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ABCD is a quadrilateral

What s the value of a?
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What is the measure of x?
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Teresa needs to cut a piece of wood in
ordor to make a parallelogram. She
‘marks aline on the wood where she will
aut,

‘What is the size of angle x7

a 2
boss
Lty

[y




image14.png
In the figure, PQ is parallel to RS.

‘Which of the following angles has
‘measure equal to 1007
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ABC s an equilateral triangle. BC is
extanded to D so that ZCAD - 25",
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‘What is the measure of ZADC?
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ABCD s a quadrilateral with all sides
tho same longth. /B = 80°.
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‘What is the measure of ZA?
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The figure below shows an isosceles
triangle.

‘What is the value of m?
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ABC is a triangle. AB is extended to D.
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What tspe of angle is ZCBD?
a Astraight angle
b Anobtuse angle
¢ Anacute angle
4 Arefle angle
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‘What s the valus of x?
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In the figure, /B = 45° and BC is
produced to D.
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16PQ is parallel to ST, what s the
‘measure of ZPQR?
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The area of a square is betsween
5000 em? and 7500 e

‘Which value could be the length, in
centimetres, of one side of the square?
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Pat draws this figure.
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‘What is the relationship batween the
angles in this diagram?
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If the perimeter of this rectangle is
120 units, what is its area in square
units?
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A rectangular feld has a perimeter
of (10a — 6) metres and a width of
2a metres.

‘Which expression represents the lenz(h
of this fild?

A 8a-6
B 120-6
¢ -

D 32-3
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ABCD is a quadrilateral.
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‘Whatis the measure of ZBAD?
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In the figure, BC is extended to D.
ZBAC=42° and ZACD = 105"

‘Whatis the value of ZABC?

A

B
c
[

3
ar
s
6




image5.png
‘The floor plan of the lobby of a hotel
i shown below:

/

‘Which of the folowing formulas is not
useful to detarmine the area of part of
the lobby?
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The positions of the water fountain, the
picnic table and the swings st a local
park ace shown below:
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The Pythagorean theorem was wsed to
determine the distance, in mees, Som
the water fountsin to the swings. Which
of the following is closest to this distance?
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